In	Out
A) 1	A) 4
B) 1	B) 1

Inmates by Facility: WCSO: 65 D&E: 0 Other: 0 TOTAL: 65

		minates by Facility. WCSO. 05					
	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
1	Baker, Deavin WCSO	Forgery, Poss. Forged Instrument, Obstruction, Conspiracy	04-09-24 1240	WCSO	04-29-90		\$1,000,000.00 10% \$100,000.00
2	Bolton, Ezzard C. WCSO	Forgery, Poss. Forged Instrument, Resisting Arrest, Obstruction, Conspiracy	04-09-24 1244	WCSO 05-07-24	02-06-01		\$75,000.00 10% \$7,500.00
3	Lawrence, Tony D. BPD	Domestic Assault, Child Abuse, False Imprisonment	04-13-24 1221	WCSO	02-21-71		\$50,000.00 10% \$5,000.00
4	Robertson, Fred A. WCSO	Warrant- Theft by Unlawful Taking, Conspiracy to Commit Theft, Flight to Avoid, Warrant- Flight to Avoid	03-12-24 1111	WCSO 05-21-24	06-04-76		\$35,000.00 10% \$3,500.00 \$6,000.00 10% \$600.00
5	Johnson Garibaldi, Elijah J. BPD	3 rd Degree Domestic Assault, Criminal Mischief, N/C Victim	04-15-24 2227	WCSO 05-01-24	03-27-03	X X	\$20,000.00 10% \$2,000.00
6	Sidney, Jeffrey A. WCSO	3 rd Degree Domestic Assault, N/C Victim	03-31-24 2234	WCSO	03-02-82	X X	\$10,000.00 10% \$1,000.00
7	Jones, Jacob T. WCSO	Warrant- Attempt of a Class 1 Misdemeanor	04-17-24 1417	WCSO 05-01-24	05-26-93		\$10,000.00 10% \$1,000.00
8	Logan, Elijah E. WCSO	Warrant- 1 st Degree Assault, Use of a Weapon to Commit Felony, N/C Victim	05-15-23 1515	WCSO	06-29-00	X X	NO BOND
9	Collins, William P. WCSO	Warrant- Burglary, 1 st Degree Assault, Theft By Unlawful Taking, 1 st Degree Murder, Stolen Firearm Prohibited Act, Use Of A Deadly Weapon To Commit Felony X2	09-14-23 1723	WCSO	07-25-93		NO BOND
10	Williams, Kierre L. WCSO	1 st Degree Murder, Use of a Weapon to Commit a Felony	12-10-23 1443	WCSO 05-07-24	08-02-80		NO BOND
11	Wright, Elgin M. WCSO / Minnehaha Co, SD Hold	Minnehaha Co Warrant- FTA	04-05-24 1452	WCSO	04-07-58		Minnehaha Co- \$2,000.00 Cash
12	Peterson, Edward A. Harrison Co, IA Hold	Harrison Co Warrant- FTA	03-31-24 0957	WCSO 05-08-24	05-24-59		Harrison Co - \$300.00 Cash

Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
13	Soltani, Kyle E. WCSO / Sarpy Co Hold	Sarpy Co Warrant- FTA	04-10-24 1453	WCSO	08-31-85		Sarpy Co- NO BOND
14	Cabrera- Nunez, Mariano WCSO / Sentenced	Warrant- FTA	04-22-24 1515	WCSO	08-09-00		Released Date Sent 2 Days
15	Kessel, Daniel D. WCSO	DUI 4 th	04-19-24 0720	WCSO	11-10-65		Release Date 04-26-24 @ 0800
16	Tamang, Bebak WCSO / Sentenced	Attempted Poss. Controlled Substance	03-19-24 1209	WCSO	07-08-04		Release Date 04-27-24 @ 0800
17	Miller, Jeramiah R. WCSO / Sentenced	Poss. Controlled Substance	03-05-24 1130	WCSO	05-17-97		Release Date 05-11-24 @ 0800
18	Sargent, William J. WCSO	Bond Revocation	03-20-24 1156	WCSO	09-05-88		Release Date 05-16-24 @0800
19	Boyle, Adam M. Burt Co	Burt Co Warrant- Failure to Register	04-23-24 1036	WCSO	05-10-84		NO BOND
20	Silva-Alvarado, Daniel I. Burt Co	Burt Co- Unlawful Discharge of Firearm x2, Making False Report, CCW, DUI, Refusal to Submit Data Master, No Operators License, Disturbing the Peace	07-16-23 0055	WCSO	11-24-01		\$500,000.00 10% \$50,000.00
21	Goodin, Brandon P. Burt Co	Burt Co Warrant- Motor Vehicle Homicide, No License On Person	04-01-24 1125	WCSO	08-24-88		\$350,000.00 10% \$35,000.00
22	Wood, Joseph D. Burt Co	Burt Co -DUI, Poss. Controlled Substance, Poss. Drug Paraphernalia	03-18-24 0235	WCSO	07-30-88		\$200,000.00 10% \$20,000.00
23	Robinson, Daniel L. Burt Co	Burt Co- Assault on Officer, Disturbing the Peace, Resisting Officer	03-28-24 0033	WCSO	08-19-71		\$200,000.00 10% \$20,000.00
24	Jump, Jesse C. Burt Co	Burt Co- Poss. Controlled Substance, DUR, No Proof of Insurance, No Motorcycle License	03-15-24 1705	WCSO	12-18-80		\$100,000.00 10% \$10,000.00

Signed:

	Name	Charges	Received Time	Housed/ Scheduled Court Date	DOB	P O	Bond Amount/ Release Date
25	Lyons, Sakione I. Burt Co	Burt Co- Obstructing Police, Resisting Officer	03-13-24 2151	WCSO 05-07-24	12-28-90		\$12,500.00 10% \$1,250.00
26	Tranmer, Brianna J. Burt Co/Sentenced	Burt Co- Probation Sanction	04-23-24 1133	WCSO	12-03-94		Release Date 05-03-24 @ 0800
27	Lasley, Lance L. Burt Co / Woodbury Co / Dakota Co Hold	Burt Co- Poss. Controlled Substance, Woodbury Co, IA Warrant- FTA, Dakota Co Warrant - FTA	03-13-24 2214	WCSO	08-15-80		Release Date- 05-21-24 Dakota Co - \$63.44 Cash Woodbury Co, IA - \$150.00 Cash
28	Johnson, Mandy M. Dodge Co	Dodge Co- Assault on an Officer, Resisting Arrest, Obstructing Police, Disturbing the Peace	04-13-24 1308	WCSO	04-13-88		\$25,000.00 10% \$2,500.00
29	Verbeek, Brittaney E. Dodge Co / Douglas Co Hold	Dodge Co- Poss. Controlled Substance, Douglas Co Warrant- FTA x2	04-20-24 1139	WCSO	09-25-94		\$5,000.00 10% \$500.00 Douglas Co- \$10,000.00 10% \$1,000.00 Douglas Co- \$10,000.00 10% \$1,000.00
30	Taylor, Angela K. Dodge Co / U.S. Marshals Hold	Dodge Co- Poss. Controlled Substance, U.S. Marshals- Probation Violation	02-04-24 0900	WCSO	04-05-77		Dodge Co- \$10,000.00 10% \$1,000.00 U.S. Marshals- NO BOND
31	Little, Jacy L. Dodge Co	Dodge Co- Obstructing a Court Order	03-25-24 1944	WCSO	05-03-80		NO BOND
32	Boschult, Jenna M. Dodge Co	Dodge Co- Shoplifting	04-09-24 0902	WCSO	01-05-91		NO BOND
33	Anthony, Ashley C. Dodge Co	Dodge Co- Tampering w/ Evidence, DUR, Poss. Controlled Substance	04-21-24 1138	WCSO	01-02-96		NO BOND
34	Campbell, Kelly A. Dodge Co	Dodge Co- Poss. Controlled Substance	04-21-24 1141	WCSO	10-15-83		NO BOND
35	Brannen, Rachel A. Dodge Co / Sentenced	Dodge Co- DUI 2 nd	04-05-24 1206	WCSO	03-30-93		Release Date 04-25-24 @ 0800
36	Conway, Amy N. Dodge Co Sentenced / WCSO Sentenced / Sarpy Co Hold	Dodge Co- Attempt of a Class 4 Felony, WCSO Warrant- FTA for Pay Card, Sarpy Co Warrant- FTA	02-06-24 1222	WCSO	07-12-76		Release Date- 05-09-24 @ 0800 Sarpy Co- \$300.00 Cash WCSO- 2 Days

Signed:_____

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
37	Syas, Robert W. Gage Co / Sentenced	Gage Co- Attempt of Class 4 Felony, Unlawful Acts Relating to Drugs	03-19-24 1449	WCSO	02-22-63		Release Date 05-14-24 @ 1000
38	King-Souza, Velio B. Gage Co / Sentenced	Gage Co- 3 rd Degree Domestic Assault	03-19-24 1427	WCSO	01-26-85		Release Date 06-05-24 @ 1100
39	Short, Whitney W. Lancaster Co	Lancaster Co Warrant- FTA	01-23-24 1418	WCSO 04-29-24	12-13-91		\$200,000.00 10% \$20,000.00
40	Versaw, Kaitlyn R. Lancaster Co	Lancaster Co- Poss. Controlled Substance	04-05-24 1213	WCSO	02-08-99		\$100,000.00 10% \$10,000.00
41	Lake, Deondra M. Lancaster Co	Lancaster Co- Robbery	03-28-24 1049	WCSO	11-12-00		\$30,000.00 10% \$3,000.00
42	Villanueva, Emily A. Lancaster Co / Sentenced	Lancaster Co- DUI 2 nd	04-11-24 1134	WCSO	05-18-92		Release Date 04-26-24 @ 0800
43	Patchin, Tosha J. Lancaster Co/ Sentenced	Lancaster Co- Domestic Assault	03-15-24 1235	WCSO	10-01-84		Release Date 04-28-24 @ 0800
44	Kuot, Mimi C. Lancaster Co / Sentenced	Lancaster Co- 3 rd Degree Domestic Assault	12-19-23 1329	WCSO	06-06-95		Release Date 05-03-24 @ 0800
45	Rena, Zoe B. Lancaster Co / Sentenced	Lancaster Co- 2 nd Degree Forgery	02-09-24 1249	WCSO	06-01-87		Release Date 05-06-24 @ 0800
46	Mullen, Jasara Lancaster Co/ Sentenced	Lancaster Co- DUI, Leaving the Scene of an Accident x2	04-23-24 1526	WCSO	04-13-04		Release Date 05-07-24 @0800
47	Finke, Susan M. Lancaster Co / Sentenced	Lancaster Co- DUI, Criminal Mischief, 3 rd Degree Domestic Assault	03-22-24 1244	WCSO	07-24-85		Release Date 05-09-24 @ 0800
48	Barrett, Raquel C. Lancaster Co/ Sentenced	Lancaster Co- Driving Under the Influence, Refusal to Submit Breath Test x2	04-23-24 1512	WCSO	06-13-95		Release Date 05-15-24 @0800

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
49	Wilson, Crystal L. Lancaster Co / Sentenced	Lancaster Co Warrant- FTA	02-27-24 1222	WCSO	10-23-77		Release Date 05-16-24 @ 0800
50	Walker, Fiona L. Lancaster Co / Sentenced	Lancaster Co- 3 rd Degree Assault x2, DUI 2 nd , Resisting Arrest	03-22-24 1331	WCSO	04-20-01		Release Date 05-22-24 @ 0800
51	Wheeler, Vanessa R. Lancaster Co/ Sentenced	Lancaster Co – Attempted Possession of Controlled Substance X5	04-23-24 1442	WCSO	06-22-95		Release Date 05-31-24 @0800
52	Conant, Natalie L. Lancaster Co / Sentenced	Lancaster Co- False Reporting	04-16-24 1115	WCSO	01-10-86		Release Date 06-02-24 @ 0800
53	Crumbley, Mildred L. Lancaster Co/ Sentenced	Lancaster Co- Attempt at a Class One Misdomener	04-23-24 1055	WCSO	10-15-91		Release Date 06-08-24 @0800
54	Hoing, Dawn L. Lancaster Co / Sentenced	Lancaster Co Warrant- Poss. Controlled Substance	03-22-24 1202	WCSO	06-13-71		Release Date 06-14-24 @ 0800
55	Carter, Terijue U. Lancaster Co/ Sentenced	Lancaster Co- Theft by Shoplifting	04-23-24 1354	WCSO	09-24-00		Release Date 06-19-24 @0800
56	Medley, Jenna R. Lancaster Co/ Sentenced	Lancaster Co- Assault and Battery	04-23-24 1312	WCSO	04-08-86		Release Date 06-26-24 @0800
57	Boyer, Hollie A. Lancaster Co / Sentenced	Lancaster Co- Violation of Home Detention, Theft by Shoplifting	04-02-24 1154	WCSO	10-02-87		Release Date 06-27-24 @ 0800
58	Canby, Megan R. Lancaster Co / Sentenced	Lancaster Co- Violation of Home Detention, Warrant- Poss. Controlled Substance	04-16-24 1052	WCSO	01-31-82		Release Date 06-27-24 @ 0800
59	Henderson, Shernell S. Lancaster Co / Sentenced	Lancaster Co- 3 rd Degree Domestic Assault	04-11-24 1024	WCSO	01-01-93		Release Date 07-08-24 @ 0800
60	Clarke, Ashley L. Lancaster Co / Sentenced	Lancaster Co- Criminal Mischief, 3 rd Degree Assault, Reckless Driving	03-22-24 1245	WCSO	11-28-86		Release Date 08-03-24 @ 0800

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
61	Woodard, Jennifer D. Lancaster Co / Sentenced	Lancaster Co- Poss w/ Intent to Deliver, Poss. Controlled Substance	04-11-24 1029	WCSO	10-06-74		Release Date 08-08-24 @ 0800
62	Ironcloud, Amanda R. Lancaster Co / Sentenced	Lancaster Co- Attempted Poss. Controlled Substance, Warrant- Theft By Shoplifting x2	03-29-24 1222	WCSO	04-19-80		Release Date 06-16-25 @ 0800 Appeal Bond- \$2,000.00 Cash
63	Hudson, Austin C. OPD	OPD- FFJ	11-22-22 1757	WCSO	02-04-98		\$350,000.00 10% \$35,000.00
64	Otte, Alicia M. Saunders Co	Saunders Co- Probation Violation Saunders Co Warrant- FTA Saunders Co Warrant- DUI	04-18-24 1537	WCSO	03-13-88		\$10,000.00 10% \$1,000.00 Warrant- \$25,000.00 10% \$2,500.00 Warrant- NO BOND
65	McGonigle, Stephanie R. Saunders Co	Child Support	04-22-24 1030	WCSO	02-07-86		\$1,000.00 Cash
66							
67							
68							
69							
70							
71							
72							

Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
73							
74							
75							
76							
77							
78							
79							
80							
81							
82							
83							
84							

Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
85							
86							
87							
88							
89							
90							
91							
92							
93							
94							
95							
96							

Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
97							
98							
99							
100							
101							
102							
103							
104							
105							
106							
107							
108							

Signed:

	Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date
109							
110							
111							
112							
113							
114							
115							
116							
117							
118							
119							
120							

Signed:

Name	Charges	Received Time	Housed / Scheduled Court Date	DOB	P O	Bond Amount/Release Date

Signed:

Signed: